
                                                                    Exercise Sheet-4 

                                                                                               Date:07.06.20  

1.There are 4 wheels of a car. How many wheels would be for 7 cars. 

2.5 apples can arrange on a plate. How many apples need to arrange 4 plates? 

3.Sima   has been reading a book by 6 pages per day. How many pages will she read in 6 days? 

 

 

                                                                                      Solution 

1. 

1 car 4 wheels 

7 cars (4×7) wheels 

           =28 wheels 

Ans: 28 wheels 

 

2. 

1 plate arrange 5 apples 

4 plates arrange (5×4) apples 

                                =20 apples 

Ans: 20 apples. 

 

3. 

1 day Sima reads 6 pages 

6 days Sima reads (6×6)pages 

                                  =36 pages 

Ans: 36 pages. 


